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1. Introduction

In the RAN4 meeting #52bis, the ACK/NACK feedback problem of TDD MCW scenarios was discussed. It is agreed that the problem would be solved without re-simulating the existing requirements and two options were proposed:
· Option 1: Set the UL/DL configuration to 0 and scale the maximum throughput accordingly;
· Option 2: One further possibility (not requiring re-simulations or a change of UL/DL configuration) could be to retain UL/DL configuration 1 with ACK/NACK bundling and skip the scheduling of subframe #0. Note that the subframe #5 is not scheduled anyway due to possible transmission of SI. This approach would allow a scheduling of 4 subframes compared to 3 subframes in proposal 3, hence slightly reducing the testing time.
In this paper, we provide our simulation results and our views between these two options.
2. Discussion
The partial simulation results without implementation impairments for TDD MCW scenarios are given in Table 1. 
Table 1 Simulation results for TDD MCW scenarios
	Scenario
	Description
	without bundling(dB)
	Option1 (Δ)
	Option2 (Δ)

	5.1
	2x2 16QAM 1/2 10MHz MCW 
	10.4
	10.7 (+0.3)
	10.0 (-0.4)

	5.2
	2x2 16QAM 1/2 10MHz MCW
	11.6
	11.4 (-0.2)
	11.3 (-0.3)

	5.3
	4x2 16QAM 1/2 10MHz MCW
	8.8
	8.6 (-0.2)
	8.8 (0)

	6.1
	2x2 16QAM 1/2 10MHz LD-CDD
	11.6
	11.6 (0)
	11.4 (-0.2)


In [1], the reference channel for case 5.1, case 5.2, and case 6.1 is R.11, and the channel for case 5.3 and case 6.2 is R.14. The rates for each subframe in TDD mode are listed in Table 2. When no bundling or multiplexing is used, the subframe #0, #1, #4, #6 and #9 are used for TDD transmission. For Option 1, only #0, #1 and #6 are used. For Option2, only #1, #4, #6 and #9 are used. The average rate of R.11without bundling is 0.49, while those for Option1 and Option2 are 0.487 and 0.48, respectively. The average rate of R.14 without bundling is 0.4923, while those for Option1 and Option2 are 0.477 and 0.493, respectively.
Table 2 Comparison of subframe code rates for R.11 and R.14 in TDD mode
	Sub-frame No
	#0
	#1
	#4
	#6
	#9

	Rate
	R.11
	0.52
	0.47
	0.49
	0.47
	0.49

	
	R.14
	0.47
	0.48
	0.506
	0.48
	0.506


Therefore, it is a little difficult to decide which option is better. But if Option 2 is used, the current requirements without re-simulation would be easier to meet for case 5.1, case 5.2 and case 6.1. If Option 1 is used, the requirement would be easier to meet for case 5.3 and case 6.2, since the average rates of Option 2 approach the average rates in the original working assumptions.
If the more stringent requirements are preferred, it is proposed to use Option 1 for the cases with the reference channel R.11 and Option 2 for the cases with R.14. If the more easy-passing requirements are preferred, it is proposed to use Option 2 for the cases with the reference channel R.11 and Option 1 for the cases with R.14. 
We hope that our simulation results would be helpful to make the final decision.
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